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�	
 �� ��� x1, x2 ∈ R ���	
���� ��	�
��� 5x2 − 7x + 2 = 0� 
����
� �� �	
����
A = {n ∈ N | xn

1 + xn
2 ≥ 1} ���
��� ����� �	������ ���	�����

�� ��� x1, x2 ∈ R ���	
���� ��	�
��� 3x2 − 7x + 2 = 0� ���������
� �	�
���� B =
{n ∈ N | xn

1 + xn
2 ≥ 1}�

��
 �� 
����
� �� −1 ≤ x

x2 + x+ 1
≤ 1

3
�����	 ����� x ∈ R.

�� �������
� ����	�
��
[ x

x2 + x+ 1

]
+ x2 − x+ 1 ≥ 0�

��
 ���������� �	��
�� f : R → R� f(x) =
2x+m

x2 + 2x+ 2
� 	��� m ∈ R� 
����
� ��

Im f ���
��� ��� �	
�� ��	� �	���� �������� �����	 ����� ������� � �	� m ∈ R�
�

 
����
� ��� �����	 ����� n ∈ N

∗, ��� ��� ������������
1

sin 1 sin 2
+

1

sin 2 sin 3
+ · · ·+ 1

sinn sin(n+ 1)
=

sinn

sin21 sin(n+ 1)
.

��
 ��  !�����
� �	������� ���	����� ���	��"�	�	� ABC �� �	��
�� �� �	������� ��#
�������� ma, mb $� mc.

�� 
����
� ��� ���� ��	� ���	��"�	�� �	 ��������� ������������� �����	����� ��	���
���	��"�	���� �	�� �����	�����

��
 %� ���	��"�	� ABC� O $� H �	�� �����	� ����	�	� ����	������ $� ���������	�� ���
G1, G2 $� G3 �	�� �������� �� ���	���� ��� ���	��"�	����� HBC� HAC� ��������� HAB�

����
� ���

��
−−→
AG1 +

−−→
BG2 +

−−→
CG3 = 2

3

−−→
OH. �� �������� AG1� BG2� CG3 �	�� ����	������

�� �����	� �� ���	���� �� ���	��"�	�	� G1G2G3 ���� ���	�� �� ������� OH �

����� � ���

��
 %� ������	� ��������� �� ���������� xOy �� ��������� �	������ A(1, 0)� B(0, 1)�
C(2, 2)� ��� M ��������	� �	� A ��
� �� B� N ��������	� �	� B ��
� �� C $� P ��������	� �	�
C ��
� �� A�

�� ���������
� ������������ �	���	�	� G� �����	� �� ���	���� �� ���	��"�	�	� ABC�
�� 
&�
� ������������ �	������� M � N � P �
�� 
����
� �� ���	��"�	���� ABC $� MNP �	 �����$� �����	 �� ���	�����
��
 %� ������	� ��������� �� ���������� xOy �� ��������� �������� d1 : y = x�

d2 : y = 2x� d3 : y = 3x�
�� 
����
� �� �������� d1� d2� d3 �	�� ����	������
�� ���������
� ������������ �	������� A� B� C �� ��������
�� � ������� d : x+y+6 =

0 �	 �������� d1� d2� ��������� d3.

�� ���������
� �������� ������	�	�
AB

BC
.

��
 %� ������	� ��������� �� ���������� xOy� �� ��������� �	������ A(0, a
√
3)�

B(−a, 0)� C(a, 0)� 	��� a > 0.
�� 
����
� �� ���	��"�	� �ABC ���� ��"���������
�� ����	��
� ���� �ABC�
��
 ���������
� �������� ��������	�	� ���� m �����	 ���� �!���� ��� �	
�� 	� �	���

���� x ������ ���'� 1 + log2(2x
2 + 2x+ 7

2
) ≥ log2(mx2 +m)�

�	
 �'
� ������� �������� ���
��� $��	� (an)n≥0� ���� an =
195

n! · 4 − A3
n+3

(n+ 1) !
(

��
 )� ��������� �����	� (1 + 1)100� *���� �	 Tk+1 ������	� ��	 �������� k ∈
{0, 1, . . . , 100}.

�� �������
� ����	�
�� Tk+1 < Tk+2�
�� ���������
� ��� ��� ���� ������ �� ����������� �����	�	��

�� ���	��
� ������������ C50
100 >

2100

100
.
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